
Human Population 

Quiz 



Population Size 

Now: 

 In US? 

 311,986,090  

 In world?  

 6,897,015,917  

 In 2050: 

 In US? 

 392 million 

 In world?  

About 9.3 billion 



Children per Family 

 In US? 

 2.0 

 In Germany? 

 1.3 

 In Afghanistan? 

 6.9 



Four Biggest Cities 

 In the US? 

 NYC – 8.4 million 

 LA – 3.8 million 

 Chicago – 2.9 million 

 Houston – 2.3 million 

 In the world? 

 Mumbai – 12.8 million 

 Karachi – 11.5 million 

 Delhi – 11.1 million 

 Shanghai – 10.8 million 

 


